BCN6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DEsCRIPTION: 30" DUAL BELT STAINLESS STEEL CONVEYOR

- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCN6 REV# 1

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT: 5499 Ibmass

SHEET 1 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\BCN6.iam




REVISION HISTORY

ECO No.

REV

DESCRIPTION

DATE

ENGINEER

APPROVED

INITIAL RELEASE

CON10

1. Changed design of Pillow block mounting channel design to have more space to install chain

coupling link without obstructions (Sheet No: 42)

09/27/2021

Tittu Paul

Dusan llic

DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
ary DESCRIPTION:
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 2 of 55

PATH:




BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR

240%"

100"

T I [
L@d . |

— 60" 120" MIDDLE SECTION 60" _— ‘ 377 26" 377
TAKE-UP SECTION DRIVE SETION ' !

S9! FREER

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE

MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM

Qty DEsCRIPTION: 30" DUAL BELT STAINLESS STEEL CONVEYOR
REVISION HISTORY - COMPANY PROPRIETARY NOTE - 2115/2021 PART NUMBER: BCNG REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
REV DE RIPTION DATE IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. [ v 0 oo o e e IDED PRIOR SIZE ‘
SC O TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 5499 Ibmass SHEET 3 of 55
1 RE LEAS E D 2/1 5/2 02 1 PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\BCN6.iam




BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR

Parts List

ITEM QTY DESCRIPTION
1 1 30" BELT W/ NO PUSHERS
2 1 30" BELT W/ PUSHERS
3 1 DRIVE SECTION
4 7 FIBERGLASS GRATING
5 8 GLIDE PLATE #3/16" x 15" x 43 1/2"
6 4 GLIDE PLATE #3/16" x 15" x 60"
7 4 GUIDE RAIL STRIP #14Ga. x 3" x 1" x 24" LG.
8 12 GUIDE RAIL STRIP #14Ga. x 3" x 1" x 60"
9 1 MIDDLE SECTION
4 RETURN BELT GUIDE
1 TAKE-UP SECTION

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DEsCRIPTION: 30" DUAL BELT STAINLESS STEEL CONVEYOR
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCN6 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 5499 Ibmass SHEET 4 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\BCN6.iam




BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

A

EST WEIGHT: 5499 Ibmass

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DEsCRIPTION: 30" DUAL BELT STAINLESS STEEL CONVEYOR
- COMPANY PROPRIETARY NOTE - R%LET‘}ESE 2/15/2021 PART NUMBER: BCN6 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE

SHEET 5 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\BCN6.iam




GUIDE RAIL STRIPS

e 24"
[ 13/]6"
v ]
DOWN 90°"
3" 4%"
- . __ DOWNse0r_ ]
_t_
L+ e
e FLAT PATTERN
(0.0747)"

FORMED

- ® A 60"
"
|
¥ 41/ D B Bk
| b mowweor [ [ __ |
f=__ T
Ye"
00747y FLAT PATTERN

FORMED

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: GUIDE RAIL STRIP #14Ga. x 3" x 1" x 60"
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCN31-300 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 6 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\BCN3 - Glide Plates\BCN3 -Guide Rail Strips 60in LG.ipt




19"

1|| e

CUSTOM LENGTH

0
0w
4 -~ ks
(] *
> >~
w w [
> 74 E
2 I
Q 2]
(@]
—
w
w =
= g
«n -
(9]
o 3
O x o
z ~ £
E 5N £
T < |&
. %) = O]
Slx|%1|3
o ©
= w 2 K]
z ) = =
w - © 2
HAEIHE
S(oefg|s]|k
- s (2| 3
[e] o o) b4 =
w gl 5 O g
)
=3 I - T L
> zZ . .. a
<lo |z | &
© o o @
w = = =
sl gzl 2 |u
b | 3| 3| & [¥<
2 4 w < |®
o o o o
x .
&g
r
ag
- |az
o
[ o |82
2 q | sm
o B |3y
N o
20
Nz
Tw
o=
4=
zy
W+
>
> X w
a | 3 8. |2¢
M y z HM ow
Z S o ] Qo
o Wl |85
m I 4 Z 0
3] WO
=F
o]
s}
: 22
) 0 EwA
Z 8 =S
Gugii |O%%
. (sl w
OYwygo iz
O2cS2: Z 5o
Zox =z [oR7)
woe VIEB
E>.a%s B
Zg=%r |XKzE
Wrges AMP
=E038% <
> ®m TYH
o®or [
=s255 |WEs
Fe=33 |Xse
QOAMW e
mw==8s |Q sz
~=2 ORD
2 3 <8
S o es
o co
< > 82
a8 &
&
Nmm
g9
o <a
©a
=z2
0zs
O5E
| 20
Iz
Fa
=

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\BCN3 - Fiberglass Grating.ipt

FIBERGLASS GRATING

\»%»«»«»«»«»«»«»«»«»«»«»«»«»«»,/
AYAYAVAYAVAVAVAVAVAVAVAVAVAVAYAN
.«».W»«»«».W».W»«»«»A»M»«»fﬂ»ﬂ»«»«i \
\ANNNANNNNNNNNNNNN
.ﬂ»«»«».,4»«»«»«»A»A»«»A»A»A»«»«»ﬂ
VAYAVAVAYAVAVAVAVAVAVAVAV, VAW
\VAYAYAYAYAYAVAYAVAVAVAVAVANY




GLIDE PLATES

(42%)"

43%"
54 o |. e

1 5“ | |

Ig H |

o o

()] (o))

15" [1IZ Zi

= =

(@) (@)

(=] [a]

| |

%ll
4, FLAT PATTERN
L—42%“ INSIDE—-‘
FORMED
59%"
60" A
15" — |-_5/8“ 5/8"_-| e
[ [
| |
S S
15" 19 S s o)
o o
i |D D|
f ] | |
! | |
%ll
. 58%" INSIDE |
FLAT PATTERN
FORMED
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: GLIDE PLATE #3/16" x 15" x 43 1/2"
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN3GP316x15x43.5 REV# 1

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE

TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 8 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\BCN3 - Glide Plates\BCN3 -Drive Glide Plate 41-3_4in.ipt




BCN1-RBG-0121 - RETURN BELT GUIDE

Parts List
ITEM QTY DESCRIPTION
1 1 3/4" Collar
2 1 3/4" OD Shaft Holder
3 2 3/8" - 16 x 1" UNC HEX SCREW
4 2 3/8" - 16 x 3" UNC Hex Bolt
5 4 3/8" N Flat Washer
6 2 3/8" Split Lock Washer
7 2 3/8"-16 18-8ss Heavy Hex Nut
8 1 Gusset #3/16" x 1 1/4" x 1 1/4"
9 1 Plate #1/4" x 10" x 2.5"
10 1 Plate#1/4" x 2" x 6 1/2" LG.
11 1 SS Shaft 3/4" D x 8" LG
12 1 UHMW Roller 0.D 2 3/8" x I.D. 13/16" x 5 3/4" LG
13%6" BJ
A
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
h}‘;ﬁgg‘;f‘,{%’;? 5E3 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WO AVIWEQUIPMENT.COM Qty pescrIPTIoN: RETURN BELT GUIDE
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN1-RBG-0121 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

PATH:L:\Designs\Product Lines\Conveyors\DBC - Dual Belt Conveyor\Parts\DBCRBG0413 - 0413 Return Belt Guide\DBCRBG0413 - 0413 Return Belt Guide.iam




RETURN BELT GUIDE - Parts

= 1%6" —=

10"
1/2" 5716" 41 16"
5" (X2) B2%4" %"
4 N\
_____T____W§OT________ T 21"
k — o
R%" f %n R1/2"

-

1%6"

FORMED

(X2) 3/8-16 UNC - 2B"

FLAT PATTERN

— 1" —=

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: Plate #1/4" x 10" x 2.5"
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PARTNUMBER: BCN1-RBG-0121C REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 10 of 55

PATH:L:\Designs\Product Lines\Conveyors\DBC - Dual Belt Conveyor\Parts\DBCRBG0413 - 0413 Return Belt Guide\Parts\DBCRBG0413002A [REV002].ipt




RETURN BELT GUIDE - Parts

61/2“
Y6" 576" %6" "
4 N\ :
e &
1 n
l \. k B
R%ll
\—(X2) %" TYP.
51"
R%s"
R2"
R%" R1/8" R5/8"
R1"%6" A
3% " : 1%
5/3" R1%s"

R1/8"

gir/

R%6"

12"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: Plate#1/4" x 2" x 6 1/2" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PARTNUMBER: BCN1-RBG-0121B REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 11 of 55

PATH:L:\Designs\Product Lines\Conveyors\DBC - Dual Belt Conveyor\Parts\DBCRBG0413 - 0413 Return Belt Guide\Parts\DBCRBG0413009 [REV002].ipt




BCNG6A - TAKE-UP SECTION

100"

(33)"

(33)"

60"

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

23" 24"
J | — | I— | - i B E— | _
(37)" (26)“ (37)“
AVW EQUIPMENT CO. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’ .,
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIF;(MENT.COM
Qty DESCRIPTION: TAKE-UP SECTION

- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNBA REV# 1

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE

TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 1480 Ibmass SHEET 12 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNGBA - Take Up Section\BCNBA.iam




Parts List

BCN6A - TAKE-UP SECTION TEM | Qv DESCRIPTION
1 4 1/2"-13 UNC x 2 1/2" LG. HEX SCREW
2 4 1/2-13 Hex Nut
3 8 1/4" FLAT WASHER
4 12 1/4"-20 HEX NUT
5 16 3/4" FLAT WASHER
6 8 3/4" SPLIT LOCK WASHER
7 8 3/4"-10 HEX NUT
8 8 3/4"-10 UNC x 3 1/2" LG. HEX SCREW
9 6 3/8" FLAT WASHER
10 4 3/8"-16 18-8ss Heavy Hex Nut
ﬁ'ﬁ Q 11 2 3/8" - 16 x 1 1/4" UNC Hex Screw
°,=<§%E_O=G 12 2 3/8"-16 UNC x 1" LG. FLAT HEAD CAP SCREW
cﬁ—-ij%}c 13 2 38" WELDED MANIFOLD ASSEMBLY
“’%f%’zc 14 2 DRAIN TROUGH
15 4 PILLOW BLOCK 2 15/16"
16 4 Round U Bolt D 1/4" x 1" x 2" L
cSe 17 2 Round U-Bolt D 1/4" x 3/4" x 2 1/4" L
- 18 2 SUPPORT ROLLER
19 2 TAKE-UP DRUM
TITR 20 1 TAKE-UP SECTION [WELDMENT]
21 1 TRANSFER PLATE F/ TAKE-UP (DRIVER SIDE)
22 1 TRANSFER PLATE / TAKE-UP (PASSENGER SIDE)
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
h}‘;ﬁgg‘;f‘,{%’g? 5E3 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WO AVIWEQUIPMENT.COM Qty DESCRIPTION: TAKE-UP SECTION

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNGBA - Take Up Section\BCNBA.iam




BCNG6A - TAKE-UP SECTION

DETAIL A

DETAIL B

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

QT DESCRIPTION: TAKE-UP SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNBA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR ]
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 1480 Ibmass SHEET 14 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNGBA - Take Up Section\BCNBA.iam




BCNG6A - TAKE-UP SECTION

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: TAKE-UP SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNBA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 1480 Ibmass SHEET 15 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNGBA - Take Up Section\BCNBA.iam




BCNG6AA - TAKE-UP SECTION [WELDMENT]

100"
1 w__ 1u
| 31 " | 28" | | 31 "
9 9 =]
FLUSH W/
C  ANGLE BTTM \ ;
, . FLUSH W/
4" 41k OUTER HOLDER
DETAIL A
(OUTER HOLDERS)
1/4" %II D
DETAIL B
33" 26“ 33“ —
. 60" ' 135°"
o~ _ = o
T T 7\
1B g 5 1 3 —\@ - [ DETAIL C
| . A & _
23" g |/ A\ 24"
3/n
17% 143"
} i IS
) —3J 1| | I —3J 1] | |
LM"—‘ LM"—‘ 1" L11"—‘ L11"—‘ | 32" ! ! 16" ! 1%
DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION [WELDMENT]
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNBAA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
T G Tl Il [ —

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNBA - Take Up Section\Parts\BCNBAA - Take-Up Section Weldment\BCNBAA iam




BCNG6AA - TAKE-UP SECTION [WELDMENT]

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

60"
5“ 23/8" 31 n I 1/2"
TYP. TYP. |
. . f
“ 5/]6“
\/ )
& | 0
o ]
e ~.
17%"
15%" 14%" 14%"
11%" 11"
— —|
1%" 1%"
32" 16“
SECTION D-D
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIWEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION [WELDMENT]
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNBAA REV# 1

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE
TO SURFACE TREATMENTS, UNLESS NOTED. A

EST WEIGHT: 492 Ibmass

SHEET 17 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNBA - Take Up Section\Parts\BCNBAA - Take-Up Section Weldment\BCNBAA iam




BCNG6AA - TAKE-UP SECTION [WELDMENT]

Parts List
ITEM QTY DESCRIPTION
1 16 1/2" - 13 x 1.25" UNC Hex Screw
2 16 1/2-13 Hex Nut
3 2 Angle #1/4" x 2" x 2" x 41 1/2" LG.
4 1 Angle #1/4" x 2" x 3" x 100" LG.
5 2 Angle #1/4" x 3" x 2" x 16" LG.
6 8 Angle #1/4" x 3" x 2" x 32" LG.
7 4 Diamond Plate #1/4" x 2 5/8" x 2" LG.
8 4 DRAIN TROUGH HOLDER
9 8 Gusset 4-1/2" x 4-1/2" - #5/16
10 2 Plate #(1/4") x 3 5/8" x 17 1/2" LG.
11 2 Plate #(1/4") x 3 5/8" x 17 1/2" LG.
12 2 REMOVABLE TRANSFER PLATE MOUNTING
BRACKET [LEFT]
13 2 Plate #1/4" x 5" x 36 1/2" LG.
14 2 REMOVABLE TRANSFER PLATE MOUNTING
BRACKET [RIGHT]
15 2 Plate #1/4" x 30" x 30" LG.
16 8 Plate #5/16" x 1 1/2" x 2 3/16" LG.
17 4 Plate #5/16" x 1 1/4" x 2 13/16" LG.
18 4 Plate #5/16" x 1 3/4" x 2" LG.
19 2 Rct. Tubing [7 Ga.] 2" x 3" x 29" LG.
20 2 Rct. Tubing [7 Ga.] 2" x 3" x 34" LG.
21 1 Rct. Tubing [7 Ga.] 2" x 3" x 96" LG.
22 6 Rct. Tubing [7 Ga.] 2" x 5" x 23 3/4" LG.
23 8 |Rct.Tubing [7 Ga.] 2" x 5" x 23" LG.
24 12 Rct.Tubing [7 Ga.] 2" x 5" x 33" LG.
25 4 Plate #5/16 x 3 1/4" x 2 1/2"
26 4 SS Sheet Metal #10Ga (0.1345in) x 2" x 2 1/4" LG.
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
h}‘;ﬁgg‘;f‘,{i’g? 5E3 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION [WELDMENT]
oAttt nhAL- N B 252021 | perhunsen BONGAA RevE |

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNBA - Take Up Section\Parts\BCN6AA - Take-Up Section Weldment\BCN6AA.iam




BCNGAA - TAKE-UP SECTION [WELDMENT]

DETAIL A

DETAIL B

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION [WELDMENT]
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNBAA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 492 Ibmass SHEET 19 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNBA - Take Up Section\Parts\BCN6AA - Take-Up Section Weldment\BCN6AA.iam




DETAIL C
(4 PLCS.)

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary DESCRIPTION: TAKE-UP SECTION [WELDMENT]
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNBAA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 492 Ibmass SHEET 20 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNBA - Take Up Section\Parts\BCN6AA - Take-Up Section Weldment\BCN6AA.iam




BCNG6AD - TAKE-UP DRUM

(B12%)"
TYP.

@10 (B2'%s)"

38"
31%"
31"
(B10%)"
1%s"— 29" = 1%

SECTION A-A

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: TAKE-UP DRUM
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNBAD REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
D R ACE TR AT T I EE NaTeoR A EST WEIGHT: 202.198 lbmass SHEET 21 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNBAD - Take Up Drum\BCNBAD.iam




Parts List

ITEM QTY DESCRIPTION
BCN6AD - TAKE-UP DRUM 1 1__|10" Pipe[Sch40] x 31" LG.
2 2 PLATE #3/8" x 10 1/64" OD
3 2 RING #3/16" x 12 1/4" OD
4 1 SHAFT 2 15/16" OD x 38" LG.

(0.365)"

B10%"

10" Pipe[Sch40] x 31" LG.

4
B12%"

A

B2 %"

¢101/64“ ¢101/16"

PLATE #3/8" x 10 1/64" OD RING #3/16" x 12 1/4" OD

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

Qry DESCRIPTION: TAKE-UP DRUM
- COMPANY PROPRIETARY NOTE - R%‘fT‘}ESE 2/15/2021 PART NUMBER: BCNBAD REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
D R ACE TR AT T I EE NaTeoR A ESTWEIGHT: 202.198 Ibmass SHEET 22 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCNBAD - Take Up Drum\BCNBAD.iam




BCNG6C - MIDDLE SECTION

120"

39n

! 33" !
38%" 23%" 38%" 37"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.

AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

Qty DESCRIPTION: MIDDLE SECTION
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCN6C REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW €O. [~ e o e e CVIDED PRIOR SIZE o wereH 744 lbmass SHEET 23 of 55
TO SURFACE TREATMENTS, UNLESS NOTED. A : ol

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6C - Middle Section\BCN6C.iam




BCN6C - MIDDLE SECTION

Parts List
ITEM QTY DESCRIPTION
1 8 1/4"-20 HEX NUT
2 DRAIN TROUGH
1 MIDDLE SECTION WELDMENT
2 Round U-Bolt D 1/4" x 3/4" x 2 1/4" L
2 SUPPORT ROLLER

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: MIDDLE SECTION
- COMPANY PROPRIETARY NOTE - R%‘fT‘}ESE 2/15/2021 PART NUMBER: BCN6C REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 744 Ibmass SHEET 24 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6C - Middle Section\BCN6C.iam




BCNG6CA - MIDDLE SECTION WELDMENT

120"
(z)u |
%" ‘ 114"
2
(2)" ‘ "
'/
t f o DRAIN PAN HOLDER
n
35% o (OUTSIDE)
A A
| |
' ' DETAIL A
DRAIN PAN HOLDER
(INSIDE)
P
7.
V4 /
| | 3
U N |
03 Y 8 g
/II " "
: 3 & 23" 21
1
L | 33" i
38" 23%" 38" 37"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIVEQUIPMENT.COM ary DESCRIPTION: MIDDLE SECTION WELDMENT
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNBCA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 728 Ibmass SHEET 25 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6C - Middle Section\Parts\BCN6CA - Middle Section Weldment\BCN6CA.iam




BCNG6CA - MIDDLE SECTION WELDMENT

YA N R 5/M 3N
1% 2% 1%
14— TYP. - '—1%."
] 1 ] 1 ] 1 ] 1 ] | J | ] 1 | | ] 1 ] 1 ] 1 ] 1
1/n
et v N N OV N L.
21" ] B X O ] B X (- 21"
" " " "
11 11 11 11
|
v SECTION A-A
‘_5“ 26" 30" 30“ 24" 5II -
/. ' k /. ' k
t t
21/8" 21/8"
ze | BT & - &
11%" 117%6" 11%6" 117%6"
30" 60" 30"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty DESCRIPTION: MIDDLE SECTION WELDMENT
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNBCA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 728 Ibmass SHEET 26 of 55
PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6C - Middle Section\Parts\BCN6CA - Middle Section Weldment\BCN6CA.iam




BCNG6CA - MIDDLE SECTION WELDMENT

Parts List
ITEM | QTY DESCRIPTION
1 2 Angle #1/4" x 2 1/2" x 2 1/2" x 23 1/2" LG.
2 4 Angle #1/4" x 2 1/2" x 2 1/2" x 38 1/4" LG.
3 5 Angle #1/4" x 2" x 2" x 1 1/2" LG.
4 4 DRAIN TROUGH HOLDER
5 12 Gusset 4-1/2" x 4-1/2" - #5/16
6 4 Plate #5/16" x 1 3/4" x 2" LG.
7 8 Rct.Tubing [7 Ga.] 2" x 5" x 18" LG
8 16 Rct.Tubing [7 Ga.] 2" x 5" x 33" LG.
9 2 Rct.Tubing [7 Ga.] 2" x 5" x 120" LG
10 1 SS Angle #1/4" x 1 1/2" x 1 1/2" x 120" LG.
11 4 Plate #5/16 x 3 1/4" x 2 1/2"
12 4 SS Sheet Metal #10Ga (0.1345 in) x 2" x 2 1/4" LG.
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIVEQUIPMENT.COM ary DESCRIPTION: MIDDLE SECTION WELDMENT
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNBCA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. D%TS,L%’XQEE,;’;P&Z%?;Z’E?_‘é?;ﬁgﬁ;lgs SKE CT WeIGHT. 728 lbmass SHEET 27 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6C - Middle Section\Parts\BCN6CA - Middle Section Weldment\BCN6CA.iam




BCNG6B - DRIVE SECTION

(100)"

(33)"

(33)"

@7)"

(26)"

(60)"

23" H 26“
L R
(37)"
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNG6B REV# 1

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT: 1836 Ibmass

SHEET 28 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\BCN6B.iam




Parts List

ITEM QTY DESCRIPTION
BCNG6B - DRIVE SECTION 1 4 1/2"-13 UNC x 2 1/2" LG. HEX SCREW
2 4 1/2-13 Hex Nut
3 8 1/4" FLAT WASHER
4 8 1/4"-20 HEX NUT
5 24 3/4" FLAT WASHER
6 12 3/4" SPLIT LOCK WASHER
7 12 3/4"-10 HEX NUT
8 12 3/4"-10 UNC x 3 1/2" LG. HEX SCREW
9 6 3/8" FLAT WASHER
10 4 3/8"-16 18-8ss Heavy Hex Nut
T 11 2 3/8" - 16 x 1 1/4" UNC Hex Screw
7 °=°:§%%_% 12 2 3/8"-16 UNC x 1" LG. FLAT HEAD CAP SCREW
e 13 2 38" WELDED MANIFOLD ASSEMBLY
> 14 1 |COVER DIAMOND PLATE
y ol 15 2 DRAIN TROUGH
gBves 16 1 DRIVE SECTION FRAME - WELDMENT
: 17 1 TRANSFER PLATE F/ DRIVE SECTION (DRIVER SIDE)
: 18 1 TRANSFER PLATE F/ DRIVE SECTION (PASSENGER
P SIDE)
T / 19 2 DRIVE SPROCKET ASSEMBLY
20 1 Gear Drive Shaft 3 1/4" OD x 18 1/2" LG
21 4 PILLOW BLOCK 2 15/16"
22 4 Round U Bolt D 1/4" x 1" x 2" L
23 1 SEW Eurodrive Gearmotor
24 8 Shim Plate #3/16" x 2 1/2" x 11" LG.
25 2 SPROCKET FLANGE 2 15/16"
26 24 SS Sheet Metal #12Ga (0.1046 in) x 2 1/2" x 2 1/2"
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
&%ﬁ%ggﬁﬁ!ig? 5E3 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
W AVIVEQUIPMENT.COM ary DESCRIPTION: DRIVE SECTION
s st S o kswraupoertco s | ONE 021 | e BONGS Reve

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR | SIZE
TO SURFACE TREATMENTS, UNLESS NOTED.

SHEET 29 of 55

A EST WEIGHT: 1836 Ibmass

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\BCN6B.iam




DETAIL C

DETAIL B

BCN6B - DRIVE SECTION

DETAIL A

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNG6B REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT: 1836 Ibmass

SHEET 30 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\BCN6B.iam




BCN6B - DRIVE SECTION

DETAIL D

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION

- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNG6B REV# 1

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT: 1836 Ibmass

SHEET 31 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\BCN6B.iam




DRIVER SECTION ASSEMBLY - Parts

1 1 "
1%" 8%" 1%"
@ * 21/2“
17"
1
(X2) @%s" THRU
C 1 ‘
3/1f6“
Shim Plate #3/16" x 2 1/2" x 11" LG.
21/2"
o= 13" o 7" —eta 13"
R%" R%6"
7 ~ i
16"
i \_&
~—R%6"
\_ )\ [
R%6" )
(0.1046)
H n n
SS Sheet Metal #12Ga (0.1046 in) x 2 1/2" x 2 1/2
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM )
Qry DESCRIPTION: Shim Plate #3/16" x 2 1/2" x 11" LG.
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BR1BGM REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. [ 0ot 0™ o o o e e VIDED PRIOR SIZE
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 32 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\BCN3 - Drive Section with Parts\Parts\BR1BGM - Shims.ipt




Gear Drive Shaft 3 1/4" OD x 18 1/2" LG

(@3%)" %

%n

@2

18%"
3" 121/2" 3"
15/|6"
3h)"
( ) (3%)"
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE .,
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM .
QT DESCRIPTION: Gear Drive Shaft 3 1/4" OD x 18 1/2" LG
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN3BGBS-185-SS REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 33 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\BCN3 - Drive Section with Parts\Parts\Drive Shaft 2-3_4 x 18-1_2 LG.ipt




Parts List

ITEM QTY DESCRIPTION
DRIVE SPROCKET ASSEMBLY
1 10 17-TOOTH PLASTIC SPROCKET
2 1 DRIVE SHAFT w/ KEYWAYS
3 2 SPLIT COLLAR
4 1 SPROCKET FLANGE 2 15/16"
(43)“
27"
(X10) 24"
HITBINBNBNEIBNBIHNIBIE ¥
(12%)" = = = = = = = = = = B2'%e"
— = — — — = = = = = ‘
(@6)" 5§ B B BE H HE HE H H E
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ .
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT pescRIPTION: DRIVE SPROCKET ASSEMBLY
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN3BC REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. & DATE
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
e ncnessrovoeprnon | A | esrumo 199 omass SHEET 34 o155

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\Drive Shaft Assembly 17t sprocket.iam




DRIVE SHAFT w/ KEYWAYS

S B S

31/2"

31/2"

%ll

¢215/16"/

Ul
e

VIEW A-A

61/2"

43"

41/2||

30"

61/2"

4%"

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: DRIVE SHAFT w/ KEYWAYS
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PARTNUMBER: BCN3BH-35-0114 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 35 of 55

PATH:L:\Designs\Product Lines\Conveyors\Tech Aid Auto Systems\Custom Dual Belt Conveyor Loader\Parts\Drive Shaft Assembly\Drive Shaft 2-15_16 x 44 LG.ipt




BCNG6BA - DRIVE SECTION FRAME - WELDMENT

100"
1"— g
| 31" 28" X 31"
C
" :
18"
AR
i I (&
] (31)" [ (31)" [
42" ] [ @15y (41%)" ] [
FLUSH W/ )"
OUTER HOLDER =
DETAIL A
o
33" 26" 33"
60"
e — —
= =| = = . o DETAIL B
J—./ 2%" g .
21" 7% 5 54 23 ——l—a%“ 4 N .
 I— | - - L1 1  I— | - i B — _— | ;
11" =117 e 11" 32" —16"— 1

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION FRAME - WELDMENT
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNG6BA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 492 Ibmass SHEET 36 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\Parts\BCN6BA - Drive Section Weldment\BCN6BA.iam




BCNG6BA - DRIVE SECTION FRAME - WELDMENT

2%

TYP.

1" —stl—

21||

1 || ||

67/8"

OO

15%" 14y

11%" 11"

17%"

%ll

14%"

11/2||

SECTION C-C

1%"

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qty pescrIPTION: DRIVE SECTION FRAME - WELDMENT
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCNGBA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 492 Ibmass

SHEET 37 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\Parts\BCN6BA - Drive Section Weldment\BCN6BA.iam




BCNG6BA - DRIVE SECTION FRAME - WELDMENT

Parts List
ITEM QTY DESCRIPTION
1 16 1/2" - 13 x 1.25" UNC Hex Screw
2 16 1/2-13 Hex Nut
3 2 Angle #1/4" x 2" x 2" x 41 1/2" LG.
4 1 Angle #1/4" x 2" x 3" x 100" LG.
5 2 Angle #1/4" x 3" x 2" x 16" LG.
6 8 Angle #1/4" x 3" x 2" x 32" LG.
7 4 Diamond Plate #1/4" x 2 5/8" x 2" LG.
8 4 DRAIN TROUGH HOLDER
9 8 Gusset 4-1/2" x 4-1/2" - #5/16
10 2 Plate #(1/4") x 3 5/8" x 17 1/2" LG.
11 2 Plate #(1/4") x 3 5/8" x 17 1/2" LG.
12 2 REMOVABLE TRANSFER PLATE MOUNTING
BRACKET [LEFT]
13 2 Plate #1/4" x 5" x 36 1/2" LG.
14 2 REMOVABLE TRANSFER PLATE MOUNTING
BRACKET [RIGHT]
15 1 Plate #1/4" x 16" x 22" LG.
16 2 Plate #1/4" x 30" x 30" LG.
17 8 Plate #5/16" x 1 1/2" x 2 3/16" LG.
18 4 Plate #5/16" x 1 1/4" x 2 13/16" LG.
19 4 Plate #5/16" x 1 3/4" x 2" LG.
20 2 Rct. Tubing [7 Ga.] 2" x 3" x 29" LG.
21 2 Rct. Tubing [7 Ga.] 2" x 3" x 34" LG.
22 1 Rct. Tubing [7 Ga.] 2" x 3" x 96" LG.
23 6 Rct. Tubing [7 Ga.] 2" x 5" x 22 3/4" LG.
24 8 Rct.Tubing [7 Ga.] 2" x 5" x 23" LG.
25 12 Rct.Tubing [7 Ga.] 2" x 5" x 33" LG.
26 4 Set Screw Collar 3/4" I.D. x 1 1/4" O.D.
27 4 Plate #5/16 x 3 1/4" x 2 1/2"
28 4 SS Sheet Metal #10Ga (0.1345 in) x 2" x 2 1/4" LG.
AVW EQUIPMENT CO., INC. DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
h}‘;ﬁgg‘;f‘,{i’g? 5E3 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WO AVIWEQUIPMENT.COM Qry pescrIPTION: DRIVE SECTION FRAME - WELDMENT

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\Parts\BCN6BA - Drive Section Weldment\BCN6BA.iam




BCNG6BA - DRIVE SECTION FRAME - WELDMENT

DETAIL A

DETAIL B

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT pescrIPTION: DRIVE SECTION FRAME - WELDMENT
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNG6BA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 492 Ibmass SHEET 39 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\Parts\BCN6BA - Drive Section Weldment\BCN6BA.iam




BCNG6BA - DRIVE SECTION FRAME - WELDMENT

DETAIL C

AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE

DRAWN BY Jose

cusTOMER: AVW EQUIPMENT CO.

MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT pescrIPTION: DRIVE SECTION FRAME - WELDMENT
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCNG6BA REV# 1

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 492 Ibmass

SHEET 40 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN6 - 30in Dual Belt Stainless Steel Conveyor\Parts\BCN6B - Drive Section\Parts\BCN6BA - Drive Section Weldment\BCN6BA.iam




FRAME PARTS

R1/2ll

21/2"

(X2) Be" ]
THRU -

4%"

Plate #5/16 x 3 1/4" x 2 1/2"

4" | ’I_I—s/w"

Gusset 4-1/2" x 4-1/2" - #5/16

13/1—-

/n

+—

FORMED

1%6"

DOWN 90°"

1%“

FLAT PATTERN

Diamond Plate #1/4" x 2 5/8" x

2"LG.

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: Diamond Plate #1/4" x 2 5/8" x 2" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN3CAE REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT:

SHEET 41 of 55

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-05A.ipt




FRAME PARTS

1%" /—1/2-13 UNC - 2B" THRU

__1/2n

"
516

Ul
%is

A4

O

(N R
+ )

16"
2%6"

1/2"

e 14"

R1/s“ 13/8"

Plate #5/16" x 1 1/2" x 2 3/16" LG.

(X2) 1/2-13 UNC - 2B"
THRU

R1/2"

o:‘@ (

5/16"—|——‘|

Plate #5/16" x 1 1/4" x 2 13/16" LG.

5/
16

1%"

1"

77o||-

/f
N

R%"

¢%u
THRU

Plate #5/16" x 1 3/4" x 2" LG.

2%“

¥
1/2"

\

1%"

r——1%M—ﬂ

[~ (Xx2) B%"
THRU

FLAT PATTERN

l\ R%n

FORMED

SS Sheet Metal #10Ga (0.1345 in) x 2" x 2 1/4" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: Plate #5/16" x 1 1/2" x 2 3/16" LG.
- COMPANY PROPRIETARY NOTE - R%—:%SE 2/15/2021 PART NUMBER: BCN3BAA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: SHEET 42 of 55

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-01A.ipt




FRAME PARTS

’72%"—-
4

Al

FORMED

——2'%¢"

1%"

4
j b

FORMED

17||

16%"

16"
—2%" 6%"

24" 1"

1

%u

1 ~ DOWN90*

R%"

R%6"
25/8"

%"

4%6" =

FLAT PATTERN

Plate #(1/4") x 3 5/8" x 17 1/2" LG.

17||

16%"

16"

23 6%"

214"~

_UP 90° R%"

-

25/8"

A

4%6"

FLAT PATTERN

Plate #(1/4") x 3 5/8" x 17 1/2" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM [e10% DESCRIPTION: Plate #(1/4") x 3 5/8" x 17 1/2" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN3AAB REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 43 of 55

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-10A.ipt




FRAME PARTS 8"

1/2||

-—

I
~—3%" 5
o
I TT I 1Z
=
" I " o 1n
I 21"

FORMED

FLAT PATTERN
REMOVABLE TRANSFER PLATE MOUNTING BRACKET [LEFT]

g
o
3%" |
I
2%" [y 5
] iz 47"
— . 3
g 2% I
FORMED \O O
|
U — 4

FLAT PATTERN
REMOVABLE TRANSFER PLATE MOUNTING BRACKET [RIGHT]

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE

MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM

arty DESCRIPTION: REMOVABLE TRANSFER PLATE MOUNTING BRACKET [LEH
- COMPANY PROPRIETARY NOTE - R%—:TA:E 2/15/2021 PART NUMBER: BCN3DB REV# 1

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 44 of 55

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-02A [Rev2].ipt




FRAME PARTS

L—R1"

2%6"

o)

FORMED

314" | 30" i VAR
. DOWwWNo0r ]
1
2“
36"

RY"

31u

%ll

7=

"
Y6

FORMED

FLAT PATTERN
Plate #1/4" x 5" x 36 1/2" LG.

30“

. DOWNS9O™ 4§ __|

31

1"

¥
FLAT PATTERN
Plate #1/4" x 30" x 30" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: Plate #1/4" x 5" x 36 1/2" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN-11A REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 45 of 55

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN-11A.ipt




BCN3CAS8 - DRAIN TROUGH

2'%"

(0.1046)" —| 1

2'%6"

FORMED

37%"

G e b 4 DOWN9Or o g

FLAT PATTERN

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

QT pescrIPTION: DRAIN TROUGH
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: BCN3CA8 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. [ 0ot 0™ o o o e e VIDED PRIOR SIZE o weraHT, SHEET 46 of 55
TO SURFACE TREATMENTS, UNLESS NOTED. A : ol

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN3CA8.ipt




BCN-3CA12-2021 - DRAIN
HOLDER

TROUGH

Parts List

6%6"

Q%

45°" ’>/ RY" /\
(2%)"

ITEM QTY DESCRIPTION
1 1 SS Sheet Metal #10Ga #(0.1345in) x 3 1/2" x 6 1/16" LG.
2 1 SS Sheet Metal #10Ga (0.1345in) x 1 1/4" x 2" LG.
10 Ga.
(0.135)"
1]
31/2n
o
o 1%" "
10 Ga.
(0.1345)"
c4y
RY%"— : ( ) I
;%Gn_. |__1/2ll %u 1/2"__ __;%Gn %"

—\— R%"

SS Sheet Metal #10Ga (0.1345in) x 1 1/4" x 2" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry pescrIPTION: DRAIN TROUGH HOLDER
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PARTNUMBER: BCN-3CA12-2021 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 0 Ibmass SHEET 47 of 55

PATH:L:\Libraries\Productivity\Conveyor\Conveyor Frames\Parts\BCN - Drain Pan Holder\BCN-DPH.iam




BCNG6AF6-1120 - TRANSFER PLATE F/ TAKE-UP (DRIVER SIDE) ITEM

' 36"

17"

Parts List
QTY DESCRIPTION
1 2 Diamond Plate #1/4" x 2" x 9 1/2"
2 1 Diamond Plate #3/8" x 7 1/2" x 36" LG.
4 1 Plate SS #1/2" 30 in x 2in
5 2 Plate SS #1/2" 7 in x 2in
| 36" |

Mr

(60)“

17%"

3/8"

(32)"

5

91/2"

83/8“

RY" 1"
1 /8“ ’I I__%ll
1%" A
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary pEscrIPTION: TRANSFER PLATE F/ TAKE-UP (DRIVER SIDE)
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCNBAF6-1120 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: 5 Ibmass SHEET 48 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\Transfer Plates\Take-Up Section\BCN3 - Transfter Plate for Take-Up Section (Driver Side) [Rev1].iam




BCN6AEG6-1120 - TRANSFER PLATE / TAKE-UP (PASSENGER SIDE)

17“

Parts List
ITEM QTY DESCRIPTION
1 2 Diamond Plate #1/4" x 2" x 9 1/2"
2 1 Diamond Plate #3/8" x 7 1/2" x 36" LG.
4 2 Plate SS #1/2" 7 in x 2in
5 1 Plate SS #1/2" 30 in x 2in
| 36" |

g

36"

71/2n

A" (X2) @'%"
THRU

T

3/n
]

-

91/2||

83/8"

Gy 1

A

DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary pEscrIPTION: TRANSFER PLATE / TAKE-UP (PASSENGER SIDE)
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCNGBAE6-1120 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT: 5.627 Ibmass

SHEET 49 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\Transfer Plates\Take-Up Section\BCN3 - Transfter Plate for Take-Up Section (Passenger Side) [Rev1].iam




Parts List

BCN3BF7-1120 - TRANSFER PLATE F/ DRIVE SECTION (DRIVER ITEM | QTY DESCRIPTION

SIDE) 1 1 |Diamond Plate #1/4" x 2" x 9 1/2"

2 1 Diamond Plate #3/8" x 7 1/2" x 36" LG.

' 36" |

17“

| 36“ |

91/2"
R%ll
DETAIL AP
1%" ,| |__1 .
V4
1 1/2" M L%ll 4
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.

AVW EQUIPMENT CO., INC.

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

[e10% pEscRIPTION: TRANSFER PLATE F/ DRIVE SECTION (DRIVER SIDE)
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN3BF7-1120 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
D SREACE TREATM AN TS UNLESE Nt A EST WEIGHT: 26.847 Ibmass SHEET 50 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\Transfer Plates\Driver Section\BCN3 - Transfter Plate for Drive Section (Driver Side).iam




BCN3BE7-1120 - TRANSFER PLATE F/ DRIVE SECTION (PASSENGER | =M
SIDE)

1%"

4

3/8"

Parts List

QTY DESCRIPTION
1 1 Diamond Plate #1/4" x 2" x 9 1/2"
2 1 Diamond Plate #3/8" x 7 1/2" x 36" LG.

75"

83/8"
91/2“
1 1/8"
11/2“ ‘]/zll 1/4“
DRAWN BY Jose cusToMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM ary pEscrIPTION: TRANSFER PLATE F/ DRIVE SECTION (PASSENGER SIDE)
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PART NUMBER: BCN3BE7-1120 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
P70 SURFACE TREATMENTS, UNLESS NOTED, | A | ESTVWEIGHT: 30.556 Ibmass SHEET 51 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\Transfer Plates\Driver Section\BCN3 - Transfter Plate for Drive Section (Passenger Side).iam




BCN3AP-0714 - COVER DIAMOND PLATE

2%"———‘

Parts List

ITEM

QTY

DESCRIPTION

Angle #1/4" x 1 1/4" x 1 1/4" x 2" LG.

Angle #1/4" x 1 1/4" x 1 1/4" x 5" LG.

Diamond Plate #1/4" x 1 3/4" x 25" LG.

Diamond Plate #1/4" x 3 1/2" x 16" LG.

Diamond Plate #1/4" x 16" x 22" LG.

|| |WIN

Al INdINdIN

Diamond Plate #1/4" x 30" x 44" LG.

3%6"———‘ ’———35/16"

t A

L___214u

(2%)"

/

-

VIEW A-A e

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry pescriPTION: COVER DIAMOND PLATE
e - COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PARTNUMBER: BCN3AP-0714 REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A ESTWEIGHT: 86 lbmass SHEET 52 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Gear Drive Cover\BCN5-GDC.iam




COVER DIAMOND PLATE - Parts

__3|| | 22u

30"

17/8"_- 47/8" |

10%"

44"

26"

R']/All

16"

"
____14

300!!

Jw

25"

Diamond Plate #1/4" x 1 3/4" x 25" LG.

26"

Diamond Plate #1/4" x 30" x 44" LG.

DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG6 - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
Qry DESCRIPTION: Diamond Plate #1/4" x 30" x 44" LG.
- COMPANY PROPRIETARY NOTE - RELEASE 2/15/2021 PARTNUMBER: BCN3AP-0714A REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 53 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCNS5 - 36" Belt\Parts\BCN5 - Gear Drive Cover\Parts\BCN5-GDC-00.ipt




(@1%)"

BCN3QU - SUPPORT ROLLER

11/2"

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

Parts List
ITEM QTY DESCRIPTION

1 1 SHAFT 3/4" OD x 35 3/4" LG.

2 9 PLASTIC SUPPORT ROLLER

3 2 UHMW SPACER 3" LG.

35%"
__3u 26%" | 3u_.
044
TN ] AN ] AN AN ]
(@%)
] ]
—r
1%"
NV - NV - ) I 7 NV -
DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QTy DESCRIPTION: SUPPORT ROLLER
- COMPANY PROPRIETARY NOTE - R%fT‘ESE 2/15/2021 PART NUMBER: BCN3QU REV# 1

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT:

SHEET 54 of 55

PATH:L:\Designs\Product Lines\Conveyors\Tom Montaine\Swish CW\BCD3 - Custom Dual Belt Conveyor\Sub Assemblies\Support Rollers\Support Roller (Driver).iam




WA1LAA-38 - 38" WELDED MANIFOLD ASSEMBLY

Parts List
ITEM QTY DESCRIPTION
1 1 1in Tubing .120 in Wall x 38 in LG.
2 2 1/2" Half Coupling
3 5 1/4" Half Coupling

39%"

38"

@

1" >

(0.120)"

38“
7“ 7|| 7" 7" 5||
< < + + —
I ]
1n
(X5) @%:" THRU %
ONE WALL
AVW EQUIPMENT CO.. INC DRAWN BY Jose cusTOMER: AVW EQUIPMENT CO.
105 S. 9TH AVENUE.’ ’ .,
MAYWOOD, IL 60153 CHECKED BY PROJECT: BCNG - 30" DUAL BELT STAINLESS STEEL CONVEYOR
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPXMENT.COM
QT DESCRIPTION: 38" WELDED MANIFOLD ASSEMBLY
- COMPANY PROPRIETARY NOTE - R%fTAESE 2/15/2021 PART NUMBER: WA1LAA-38 REV# 1

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

DIMENSION ARE IN INCHES & PROVIDED PRIOR

TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE

A

EST WEIGHT:

SHEET 55 of 55

PATH:L:\Designs\Product Lines\Conveyors\BCN3 - Dual Belt Conveyor 30in\Parts\Manifolds\Manifold Assembly 38 in. - for BCN3 conveyor.iam




